EARAROBEEIERT — 2 N— IBISH —F

20174108168 (A) 6m@F1H

Gl > %—f% C2mEA

‘ (%] ‘ (EmmEl  — | 4 (5) 14000 RE

[A~&£] 1 7% :1,000,000  ~ 23 :350,000 ™ 37 :200,000H™

4 7% 150,000 . 5 3& : 100,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N N FEEE :30. -1-1- . — 14 ARER (MFE)
1 A 7RI H # 5 i 1(3_0)7 1-1-1-1 | 40.0 3 :1_915) oL &
L:77NVT5T Bl I710—N [l e]
. # o4 | BmES 1:30.9 2-2-2-2 |40.0| — | 2 | 483 |HLMR (A7)
20819 IXTAR—A ;6.0 (1 1/72) (-2) KBl
RxFIZG -2 BEAEY e
[ BN 4 5 | DEEFNIE 1:31.3 5-5-4-3 |39.4| — 6 483 | NIBE (aFn)
3lgls| 7 T>Tr>/ 54.0 @) 4g) | W Tr—ztETar
R:TFAT7L X244 L B:ARETFTANA ARETa—-T7—L
Ry . REHE 231, =3-8~ . - gyt GaFn)
A )| YH I TLEF # 5 | BE 1(13/12)4 4-3-3-4 | 40.0 1 (4:555) e
R:IA>FE2T71 Biky LT o FH XFH
. 3 | AvzEs 1:32.6 8-8-8-8 |39.1| — 7 | 435 | KHEE (4E)
5|55 BEy &=+ # 54.0 ®) 4 |RINE ;
R:xA1=G7—2 BHAECRILF YA 785
N BEHB :33. —4-5- . — FEAEE (GhFn)
6 3 T 5 =2 o UE— 4 8 g 1(323)0 3-4-5-5 |41.3 4 (5+064) EEI%?—
Lo—lA7O— B:g2—TJhLTv— =i =
R — : 77 - wHE ()
2l7l7 Va7 3 | E® 1(73?:; 7-7-7-6 | 40.4 8 (fg) i
LR—HNE BHAF3ITFR b FK B
- PN [ibp ] : ~6-6- — JIF<RSE  (GéFn)
alil1|5vx=—27U>r 5 | A 1(.33/34.)2 6-6-6-7 | 41.3 5 51527) Eﬂ-ﬁ{%
R:bIA4=>y Biv—d-> NI
N . ERRE :33. -9-9- . — KRS (afE)
N - BEXSECDPYE: 5 ED Gy | e |8 S e
R4 amYLYy BT RISYANY— Ee
® I—F—@EBIERL
|S=7r= 4,9,3,2,8,1,7,5,6
Ao=5"= 4,9,2,3,8,1,7,5,6
3T—7— 4,9,2,8,3,1,7,5,6
41—F— 4,9,8,2,3,7,1,5,6
[ RN
B 4 600 794K 4-9 390 & 4-8 900 &R 4-8-9 4,370
BB 4 210/ 4-8 1,170 e B 4-8 1,370M EE 4-9-8 17,610H
9 140 8-9 490F9 B = 4-9 910M
8 330M B H 4-9 2,190

ABICOVWTRDTEEERROODE. TR LIV,




